[\ ™
| o |

I
N R N
H B H

— [ [ | N

R R
© © ©






_g]

ESHIRS

ax’ + (da+2)x—a-2=09 F Zo] -5,» 4 1,

ot

<]

s



4. oI AHA 2x+5 =% +4x+m O] T AEE m o] gS 5t

ofzt.

Ben-



OJZAPYAFA 4(x +a)? = b(b>0) & 7t x =3 + V5
a,b © 3 a+b 9] S Fotoqzt

S ER
=%



3 33



— | O

— [

— <

— |

— |



[¢]

B 1
PP 22 - dx-12 = 0 9 29 A58 a7, (2 - 20+ 4 =0

A MNFE LN T W, 0, b EFCESFE X+ pxt+g=09]
o] 45 Fsh?

rh 1o

D 274 @ 174
® oA @ F4=9] gt

G o] A2 5t 2 g}



R
7Ao
ol
S
arl
iy
5
—_—
1jo
1!
No oju
5 W
s o
+
RI[
I or
= O
|
+
Eo=
%o
m +
~ L
o ©



=0¢ ™, pt+g

o] x> + px+gq

14

1243

o



11.

OIRPIAHA 252 4 4x+ 36 =0 ] T 29 ¥k 1:3 A W, k o] g
Fofoat.

=g
=¥

ftlo



37 4550 = 0 9] 5 29 3}
WAL PR (2 2 9 AGE 3 oleh,

¢

1

12, o]xpg7 4
|2}

e T Tl2ES
)

@ 3x24+13x+14=0 @ 3x2+14x+15=0

® 3x>+15x+16=0 @ 3x>+16x+17=0

® 3x2+17x+18=0



—_—

7F1470%

=
T

13. d74]



el

I
x) ©}
| A
y =
2
+
3x —
4% o
S
(f(1
)
o)

Il o
" .
¢ %

JoH m_:ﬂ A
§ 3



[
o|J
N

® 5

@D 1



® y=a(x-p)*+q, y=—a(x—p)2—q94 W ESSNERY
st A2 iAo =},
@ y=ax o THDE QAL BAY, y FS JHFOR S
Z=4oltt.
® y=a(x-p)? o TAZA a>0 L, p>0 < x 9 Zte]
tiste] x 9] Zrol &71elA y 9] e F7fsict



17.

y— 2x? —3x+1 o] I e}y =of thsto] A Q1 1z o]

D®y=-2x2+3x+1 @ y=2x*-3x+1

® y=2424+3x+1 @ y=2x2-3x-1

® y=-2x2+3x-1



18.

© ® 0 & o

A,
x%ii—%y%gi—
xégi—;déﬂi—
=07 g, y=O7 —
R
zom 3 yzom3
x5 2,3y? 43
zom_3 yzom3
X= 9’ y= 1



19.

ohg o)z}

o

1o
[
e
=

S
T

O y=-x>+4x-3
@ y=-2x>+8x+1

® y=-x*-8x+5




=9

f

x2€] A7k 191 0|2

20.

1
H

@ x=-3

D x=-2FEE=x=5

® x=-4F=x=6



21, THE 40 THE FolA Al 1 AERS AU SR 2L

D y =342 @ y=-2x24+3
@ y=(x-2)? @ y=(x+1)2+3

®y=—(x+12%-3



22, EZEMy=ax’+10x-12 T x Fo] F HA(1,0),B(b,0) oA T
W, a+ b ©] G FohH?

D -1 Q -2 3 -3 @ -4 B -5



23.

oAt y = ax? + bx + ¢ 9] I =7} o}
& 1™ 22 o, o] o|apetao] &
otofet,




24. oAty = —x* +dax—b O] HHg2 5 012, A (2,5) € A
a+b 9 gh& Fstefet.

B
=¥



25.

@ 4.5cm

@ 3.6cm

“~18cm-~

@ 4.0cm

3 3.4cm

® 3.8cm



